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39- Ali couldn’t work because the children were
making...... noise.

1) such 2) enough
3) too many 4) too much
40- Alicedidn’t feel well...... to go to work this morning.
1) so 2) such 3) enough 4) very
41- Ali was looking for his friend. Finally he found his
friend ........... in the garden.
1) worked 2) works 3) working  4) work

42-You..... likethat at the party last night but you did.

1) should have done 2) shouldn’t do
3) shouldn’t have done 4) may do
43- 1'd like a glass of water ...............
1) sohad | 2) | had too
3) so would | 4) | would so

44- The economic situation is in balance when we........
enough or more than what we bring into the country.

1) edit 2) export 3) equip 4) enter
45- | can’t remember.......... which passenger- car | was
in, but it was near the front of thetrain.

1) eagerly 2) equally

3) exactly 4) extremely

46- Young peopledo not usually need so much..... asrheir
parent provide.

1) condition 2) discussion
3) fascination 4) protection
47- The trees in our garden.......... more apples than we
can eat.
1) bear 2) pour
3) hang 4) need
48- Theold woman was...... and all her money wasrobbed.
1) ignored 2) attacked
3) respected 4) employed
49- No onewas surprised by her........
1) succeed 2) success
3) successful 4) succeessfully
50- I’'m not going to giveyou my ........... because | don’t
want to influence your way of life.
1) glasses 2) parcel
3) opinion 4) tie
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